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Instructions to the Examinee :

1.

Do not open the booklet unless you are
asked to do so.

The booklet
Examinee is required to answer any 50
OMR Answer-Sheet
provided and not in the question booklet. If

contains 60 questions.

questions in the
more than 50 questions are attempted by

then the first attempted 50
questions will be considered for evaluation.

student,

All questions carry equal marks.

Examine the Booklet and the OMR Answer-
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Faulty question booklet due to missing or
duplicate pages/questions or having any
should be got

other  discrepancy

immediately replaced.
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TRl @ forg e :
1. WRA-YRI® & T4 T6 | Giel 1 6 M el
Y|

ye-gRer 60 U 1 weml @1 fhl
50 Yol @ dadl 4 T§ OMR TR-¥c W &
g BT &, WeA-YR@T W 7| Ife BT gNI
50 ¥ 3G Tl B & bl O & I URMPMIE
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(Only for Rough Work)



R FIeA UF AN fa9 § Hifd I8
ST PRl B :

(A) Sfer faaor

(B) fI9y SR

(C) dER DRI

(D) T SIFK]

o W fIRd &7 MaR B &
(A) STIATDR

(B) TR

(C) TR

(D) PraR

yfcfem &1 G SThN 2Biar ¢

(A) ITIHR AT ADR

(B) AR TAT BRHR

(C) TPR TAT MATHR

(D) PR T ATAGR

Aed FEARIGA & WA g 3D
TRTAfd AT

(A) IICTTARIT 3ol

(B sfcs gl

(©) TrR-FwRe

(D) oFe-SHRE

SSAC-5010

(3)

Remote sensing is a unique science
because it provides :

(A) Synoptic view

(B) Special information

(C) Superior information

(D) Encrypted information

The shape of a pixel of an image is :

(A) Rectangular
(B) Circular
(C) Square

(D) Triangular

Overall shape of an image is :
(A) Rectangular and square
(B) Circular and triangular

(C) Square and circular

(D) Triangular and rectangular

Vegetation with more chlorophyll will

reflect more :

(A) Ultravoilet energy
(B) Emitted energy
(C) Near-infrared

(D) Thermal-infrared
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5. [Afrg Gd<d o-91 ol YU dxar 5. A passive sensor uses which energy ?

g ?

(A) T TF ol I A1 (A) Sun as the source of energy

(B) Urc'\l‘\’lc'Hk‘gc', Sl BT G (B) Flashlight as a source of energy
(C) 3T S B Sl H G (C) Its own source of energy

(D) SUYa H H IS el (D) None of the above

6. 3HW W fodr ERIERE] o3 @ ygaE 6. Identifying the object/feature on image is

! B P § called:
(A) THY SUCRUCIE (A) Image interpretation
(B) WY HIGRYT (B) Image classification
(C) HY gom (C) Image building
(D) A M (D) Image preparation

7. Sl UL TE @ QR AW (ol 7. Write the full form of G. P. S.
(A) T qIfoTarT RieeH (A) Google Positioning System
(B) A qIforer+iT Rivew (B) Global Positioning System
(©) (A) 3R (B) T (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above

SSAC-5010 (4) Set-A



10.

11.

SHl. 3. TH. &1 /T M foflRed
(A) HFMfere ara:fehar yomen
(B) BN &I HoITedl

(C) Hrmiferes Jgart ot
(D) ST # ¥ BIg el

1 “MIeR qRIER BT B

10° .

10 " .

(A)
(B)

() 10°

(D) 10°

gl o Ao Bl B B
(A)  aREl @1 a1 gerfad g
(B) v @1 AT H 3 &
(C) ¥ Wi Bl e

(D) Suga Wl

godl ¥ e SR @ U e @
ST

26000 fohH.

30000 fohH.

36000 fohH.

44000 fpH.

(A)
(B)
(©)
(D)

SSAC-5010

(5)

10.

11.

Write the full name of G. I. S. :

(A) Geographic Interaction System
(B)
(©)

(D)

Good Information System
Geographic Information System

None of the above

1 nanometer is equal to the :
(A) 10°m
(B) 107m
(C) 10°m

(D) 10°%m

A reduction of nitrogen nutrient in plants :
(A) affects leaf colour

(B)
(®

(D) All of the above

reduces pigment concentration

increase the visible reflectivity

The altitude distance of a geostationary

satellite from the earth is about :

(A) 26000 km

(B) 30000 km
(©)

(D)

36000 km

44000 km

Set-A



12. o 6 . SWE @ 9EN SO e e 12

TR
(A) 16200 o,
(B) 20200 .
(C) 24400 T,

(D) 36100 .

13, HY B XGET AT ST FFAM 13.

gRT Uit gRaeT 2|

(A) Z T4 T

(B) FIMa g
(C) w4

(D) ¥Rd

14, . 3M8. U4, fod UoR @ dffes & w1 14,

BRI FRAT B P

(A) TG 3fTHe]

(B) WS bl
(C) NI i

(D) @l affdmer

SSAC-5010 (6)

The normal altitude of G. P. S. satellite is

about :

(A) 16200 km

(B) 20200 km

(C) 24400 km

(D) 36100 km

The crop acrage

and

production

estimation project was funded by ......... .

(A) U.S.A.

(B) European Union

(C) Russia

(D) India

G. I. S. deals with which kind of data ?

(A) Numeric data

(B) Binary data

(C) Spatial data

(D) Complex data

Set-A



15. frfofed & @ a9 g w9 A 15.  Which of the following is full-flaged

ot 3“3‘ w Yoq § 2 G. I. S. package ?
(A) TS, Td. Sy, 3TS. TH. (A) ILWIS

(B) SiA-HIfSa (B) Geo-Media
(C) 3Md-ofl. s, TH. (C) Arc-GIS

(D) SUgad JHI (D) Al of the above

16. Wjﬁ SRECIRCHERG! »{j\t{cm'cb TRITA] B 16. Refractive index of ocean water ..............

e 3 with salinity.

(A) dedl (A) Increases

(B) d©cdr (B) Decreases

(C) ®IS ¥IT 7! BIal (C) No effect

(D) Suga H A Bl el (D) None of the above

17. 3 ¥ 3-91 gl ) Red fofl avg 17.  Which does identify the objects on the

& T AT R ? earth surface ?

(A) RFTR (A) Signature

(B) feImicH Ffe (B) Radiometric error
(C) dgHvSHIg gl (C) Atmospheric window
(D) SUYa H A Bl 7l (D) None of the above

SSAC-5010 (7) Set-A



18.

19.

20.

YR HAGH Tl B BT 3 - 18.

(A) €@ RN R
(B) T oM W

(C) Tdgagmay Tl W
(D) Syga 9 |

. 311 T, A1 R M o 19.

(A) TS faHm
(B) e forT
(C) ofaRer fawmT

(D) SIS A faMmT

5. TE. AR, 3. BT 1 A el 20.

(A) ¥R TS fdSe 9e HRem

(B) ¥R HaT fasi oY eI

(C) RGO AR M R

(D) SWad # | BIS T2

SSAC-5010 (8)

Remote sensing technique works on the :

(A) Sound waves

(B) Electric waves

(C) Electromagnetic waves

(D) All of the above

Write the full form of D. O. S. :

(A) Department of Science

(B) Department of Soil

(C) Department of Space

(D) Department of Social Science

Write the full formof . S. R. O. :

(A) Indian Social Science Research

Organization

(B) Indian Soil Science Research
Organization
(C) Indian Space Research
Organization
(D) None of the above
Set-A



21. ST & 1 M foRay -

(A) WRAR TR IYU- YOTTel]

(B) ¥R I 7T U fY Srads

(C) RN 3fARe STINT ThTad!

(D) STda # & Big AL

22. M. AR, TH. &1 [T M iy -

(A) 9RAY e Hdegd SUUE

(B) R goxX Haad Hagd
(C) WK G¥ Ha& Yomel!

(D) SWa ¥ ¥ I3 T

23. WRA Gox HdgT G Red @

(A) TRETE H
(B) <ENIgd

(C) 3FEHeEIE H

(D) % faeel

SSAC-5010

(9)

21.

22.

23.

Write the full form of INSAT :

(A) Indian National Satellite System

(B) Indian National Soil and

Agriculture Testing

(C) Indian Space Application

Technology

(D) None of the above

Write the full name of IRS :

(A) Indian Remote Sensing Satellite

(B) Indian Remote Sensing Sensors

(C) Indian Remote Sensing Systems

(D) None of the above

Indian Institute of Remote Sensing is

located at :

(A) Hyderabad

(B) Dehradun

(C) Ahmedabad

(D) New Delhi

Set-A



24,

25.

26.

27.

SSAC-5010

T, 3R, T, ¥ Rerd © 24,

(A) THREE H
(B) STEASEIE H

(C) <EIg #
(D) PIIBIT H

3rIReT ST B RoId B 25.

(A) 3rEHeTEE H
(B) &exEIE H
(C) &R A
(D) T 4

q. v, vel. 9 @1 g1 T (R 26.

(A) TR dcdlse ad @dd

(B) TUMYeR Hcdl3e Ad @ldhdt

(C) UFIeR dcdRe aFd idd

(D) ISR Ase o+ @Bidhed

Sff. O, el L &1 1 T forfan 27.

(A) SRR Jcdse of=d @idhd

(B) TUIIUS HTISE dlFd Rldhel

(C) A Hclse dFd Rdbd

(D) SWad # | BIS T

(10)

N.R.S. C. is located at :
(A) Hyderabad

(B) Ahmedabad

(C) Dehradun

(D) Kolkata

Space Application Centre is situated at :
(A) Ahmedabad

(B) Hyderabad

(C) Dehradun

(D) Mumbai

Write the full form of P. S. L. V. :

(A) Polar Satellite Launch Vehicle

(B) Popular Satellite Launch Vehicle
(C) Peninsular Satellite Launch Vehicle

(D) Passenger Satellite Launch Vehicle

Write the full formof G. S. L. V. :

(A) Geosynchronous Satellite Launch

Vehicle

(B) Ground Satellite Launch Vehicle
(C) Global Satellite Launch Vehicle

(D) None of the above

Set-A



28. 3BT I 3T BT Hed & 28. The eye of sky is known as :

(A) S (A) Satellite
(B) drgar (B) Aeroplane
(C) == (C) Moon
(D) Sugad FHI (D) All of the above
29. YAl &I UIGIId SUIE @ - 29. The natural satellite of earth is :
(A) Il (A) Moon
(B) SUUE (B) Satellite
(C) drguH (C) Aircraft
(D) SUgad JHI (D) All of the above
30. Yl W ol I G A T - 30. The main source of energy on the earth
is :
(A) | (A) Sun
(B) T=HI (B) Moon
(C) = (C) Bulb
(D) Sugad FI (D) Al of the above
31. TSROV H qof foe 7 8@ 8§ ? 31.  How many colours are there in rainbow ?
(A) 5 (A) 5
(B) 7 (B) 7
€ 9 (C) 9
(D) 10 (D) 10

SSAC-5010 (11) Set-A



32.

33.

34.

35.

I 3T R
(A) el
(B) &I
(C) @@

(D) Suda Wl

ged] &l B :
(A) el U8
(B) T UE
(C) I IB

(D) SWE # W B &

el U8 e ©

(A)  HTA

(B) Al

© A

(D) ST # | BIg T2l

IR HIST W ds (3. 1) Rerd 2

(A) TGS ¥
(B) e
(C) JIRT §
(D) SWad # | BIS T

SSAC-5010

32.

33.

34.

The primary colour is :
(A) Blue

(B) Green

(C) Red

(D) All of the above

Earth is also known as :

(A) Blue planet
(B) Green planet
(C) Red planet

(D) None of the above

The red planet is :

(A) Marsh
(B) Moon
(C) Earth

(D) None of the above

Remote Sensing Application
(U. P.) is located at :

(A) Lucknow
(B) Noida
(C) Agra

(D) None of the above

Centre

Set-A



36. U &1 T Bl &
(A) 3 x10° /. /3.
(B) 3 x 10° W/
(C) 3x10° ./
(D) 3 x 10° #I./4.
37. UM WRMIY SUIE §
(A) 3mvee
(B) X
(C) dmwmce

(D) SWE & W B &

38. fafsw e & dd ®
(A) oM
(B) 3MHR
(C) ufwu
(D) ST T
39. off. @ TH. &1 g9 2
(A) IR THTT
(B) RIFT g
(C) SYINTHAT JaTT

(D) ST W

SSAC-5010

(13)

36.

37.

38.

39.

The speed of light is :
(A) 3 x10°m/s
(B) 3x10°mis
(C) 3x10°m/s

(D) 3x10°m/s

India’s first satellite is :

(A) Aryabhatt
(B) Bhaskara
(C) Banbhatt

(D) None of the above

The element of image interpretation is :
(A) Shape

(B) Size

(C) Pattern

(D) All of the above
The segment of GPS is :
(A) Space segment
(B) Control segment
(C) User segment

(D) All of the above

Set-A



40.

41.

42.

43.

IR JMETRT wchiH BT TR 2 -
(A) AT

(B) SdIT

(C) ofI¥-11

(D) g1

ST Bl T BICT BT ©
(A) To

(B) MUad

(C) H foea

(D) WA & W B &l
9 q BIH-97 fa9eT o1 UhR TRl B ?
(A) R faves

(B) Waga faved

(C) THIRS faved

(D) URWRA faved
$RgY Bl & :

(A) T e

(B) 3T el

(C) (A) 3R (B) &
(D) SWad # | BIS T

SSAC-5010

(14)

40.

41.

42.

43.

The example of air based platform is :

(A) Mos
(B)

(©)

Dakota
Liss-1I

(D) Liss-1lI

The smallest unit of an image is :
(A) Axel

(B) Pixel

(C) Mega Pixel

(D) None of the above

Which one is not a type of resolution ?

(A) Spatial resolution
(B) Spectral resolution
(C) Temporal resolution

(D) Periferal resolution

The rainbow is :

Full circle

(A)
(B) Halfcircle
(C) Both (A) and (B)

None of the above

(D)

Set-A



44,

45,

46.

SSAC-5010

AMSC JUYE DT YEuul b ay fdar
T o Y

(A) 19 3d, 1974

(B) 19 ald, 1975

(C) 19 ald, 1976

(D) SWE ¥ | FIg el

DA TG HRIRTT SRR
g 7?

(A) IREMN-84

(B) . T4 dI. 3T,

(©) fomr g7

(D) ST T
-, 3. TH. IS 2

(A) T BT
(B) T I Sfl. T. U9, @1
(C) aI¥a@! a9, HereT &1

(D) SWad # | BIS T

(15)

44,

45.

46.

Aryabhatt satellite launched in the year :

(A) 19 April, 1974

(B) 19 April, 1975

(C) 19 April, 1976

(D) None of the above

Which IS image

software ?

(A) Erdas-8.4

(B) ENVI

(C) GEO IMAGE

(D) All of the above

Arc-GIS is product of :

(A) ESRI

(B) LCGAS

processing

(C) Department of Forestry, Canada

(D) None of the above

Set-A



47. H1I 3Nfdey 99 @l ik 91 ded & ? 47. The Marsh Orbiter Mission is also called

as .

(A) HT I (A) Mangal Yan
(B) E A (B) Gagan Yan
(C) gl (C) Prithvi Yan
(D) SWE ¥ | FIg el (D) None of the above
48, ORI DI XAUAT fbd ay g‘g‘ ? 48. ISRO was established in which year ?
(A) 15 3T, 1949 (A) 15 August, 1949
(B) 15 3T, 1959 (B) 15 August, 1959
(C) 15 37X, 1969 (C) 15 August, 1969
(D) 15 3T, 1979 (D) 15 August, 1979
49. TEI BT T B : 49. The headquarters of ISRO is :
(A) THg (A) Mumbai
(B) ENIEIQ (B) Hyderabad
(C) dT® (C) Bengaluru
(D) °~TS (D) Chennai
50. T IM-1, 22 (AT, 2008 DI [ AH 50. Chandrayaan-1 launched on 22 October,
e vafig frar T o ? 2008 by launch vehicle :
(A) . TE. Ud. 9-9 10 (A) PSLV-C 10
(B) . TE. Udl. dI-4l 11 (B) PSLV-C11
(C) . TE. Ud. dI-4 12 (C) PSLV-C12
(D) . TE. Udl. 91-91 13 (D) PSLV-C13

SSAC-5010 (16) Set-A



51.  3Miel e gwfRid § 51.

(A) T
(B) HTA W

C) &

(D) N«

52, 39 WHY SR @] W B 52.

g ?

(A) . Ry

(B) T TH. foro1 HAR
(C) il A’IGT ARR

(D) SWad # | BIg T2

53. I olver fad wwfig o ? 53.

(A) T IH-1
(B) T IH-2
(C) T= IH-3

(D) SUYa H A Pl el

SSAC-5010 (17)

Apollo Mission is related to :

(A) Moon

(B) Marsh

(C) Mercury

(D) Saturn

Who is the current chairman

ISRO ?

(A) K. Sivan

(B) A.S. Kiran Kumar

(C) G. Madhavan Nayar

(D) None of the above

Vikram Lander was related to :

(A) Chandrayaan-1

(B) Chandrayaan-2

(C) Chandrayaan-3

(D) None of the above

of

Set-A



54,

55.

56.

SSAC-5010

S, AR, T, T, TH. BT )T A foIRay
(A) IR &A1 989 SUUE Yomed!

(B) Wi {R Wded w8 SUUE

PRI
(C) YRR 84 SUUE Yomenl

(D) SHIF T

HIF-AT YT Y& I qRAT § ?

(A) T T4 T 9.

(B) Ul TH. T 9.

(C) Sl T4, T, ql.

(D) SHIE W

[T 999 AR T (T, 1. T4, L)
WER Rerd

(A) AeERarer, amr yeor o

(B) el YR H

(©) e, Pled |

(D) Tz A

(18)

54.

55.

56.

Write the full form of IRNSS :

(A) Indian Regional Navigation

Satellite System
(B) Indian Remote Sensing Navigation

Satellite System

(C) Indian Navigation Satellite System

(D) All of the above

Which satellite launch vehicle is of

India ?

(A) ASLV

(B) PSLV

(C) GSLV

(D) All of the above

Satish Dhavan Space Centre (SDSC)

SHAR is located at :

(A) Shri Hari Kota, Andhra Pradesh

(B) Kota, Rajasthan

(C) Bengaluru, Karnataka

(D) Mumbai

Set-A



57. WRA < IS W Gl fda FeH Aol ? 57. India has send how many missions to

moon ?
A) 1 (A) 1
B) 2 (B) 2
€ 3 (C) 3
(D) 4 (D) 4
58. T Uh SAINET | & 58.  NASA is a space agency of :
(A) I TE. T (A) U.S.A.
(B) TSI I (B) Canada
(C) wE @ (C) Russia
(D) U I (D) Japan
59. il U, 37, BT [T M feflgy : 59.  Write the full form of GSI :
(A) FRA YA FdeTor (A) Geological Survey of India
(B) WRAH TN Heqor (B) Geographical Survey of India
(C) RGO MR JaeTor (C) General Survey of India
(D) WA ST Heror (D) Ground Survey of India

60. U dl TH UE &R Td Y U & 60. The headquarters of NBSS and LUP is :

qAT &

(A) TR (A) Nagpur
(B) letahrc (B) Kolkata
(C) Mo (C) Bengalury
(D) % feeel (D) New Delhi

SSAC-5010 (19) Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® WA & IR GRITad StR—
A,B,CTd D | Wemdi & 89 9 fadwedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©

TSI IR AT U IR I8 PIeT AT 98a T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TAG T B 3F FHE 2| AP R St
e B, I B AR 3P YIM b SR |

T ST $ad 3. TH. IR, ST-T986 (OMR
Answer Sheet) WX 2 f 9 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. 3R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE &XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, YEH-GRADET T 3 H, H-IR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-gab, Defdeicy, Yok qel HegerR

B o ST 9T SHBT SN HRAT Iroid 2 |

T & faval U9 3o SurRer § =TT 8 @l
T H YT BT U WURYT & A BT |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

2y
i3
E
oy,
a,
j
8
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